27624 M X Fo 4k DIN 71752

P 25

M

2 HI

I

e,

H9
D511
- L2 -
L3
‘ // |
) ] ]
<<| @ 5 - al R
Y |
G

27624-0510 BRRE 5 | 10 | 5 M5 9 26 | 20 75 10
27624-0612 AR 6 | 12 | 6 M6 10 31 24 9 12
27624-0816 AR 8 | 16 | 8 V8 14 2 | 32 12 16
27624-0832 AR 8 | 32| 8 M8 14 58 | 48 12 16
27624-1020 AR 70 | 20 | 10 M10 18 52 | 40 15 20
27624-10120 BB 70 | 20 | 10 M10x1,25 18 52 | 40 15 20
27624-1040 BRRA 10 | 40 | 10 M10 18 72 | 60 15 20
27624-10140 AR 10 | 40 | 10 M10x1,25 18 72 | 60 15 20
27624-1224 BRI 12 | 24 | 12 M12 20 62 | 48 18 24
27624-12124 AR 12 | 24 | 12 M12x1,25 20 62 | 48 18 24
27624-1248 BB 12 | 48 | 12 M12 20 86 | 72 18 24
27624-12148 BRRS 12 | 48 | 12 M12x1,25 20 86 | 72 18 24
27624-1428 AR 14 | 28 | 14 M4 24 72 | 56 22,5 27
27624-1632 BRERY 16 | 32 | 16 M16 26 83 | 64 24 32
27624-16132 ERES 16 | 32 | 16 M16x1,5 26 83 | 64 24 32
27624-2040 BB 20 | 40 | 20 M20 34 105 | 80 30 40
27624-05101 ERRS 5 | 10 | 5 M5 9 26 | 20 75 10
27624-06121 ERBR 6 | 12 | 6 M6 10 31 24 9 12
27624-08161 ERBY 8 | 16 | 8 M8 14 2 | 32 12 16
27624-10201 ERBS 70 | 20 | 10 M10 18 52 | 40 15 20
27624-12241 ERRE 12 | 24 | 12 M12 20 62 | 48 18 24
27624-16321 EREIRE 16 | 32 | 16 M16 26 83 | 64 24 32
27624-20401 ERBRR 20 | 40 | 20 M20 34 105 | 80 30 40

© norelem www.norelem.com



27624 PH X F24#3k DIN 71752

© norelem www.norelem.com



